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Lambda=1.540560 Angstroms a=4.593600

(h,k,1) M d(Ang) T(Deg) fTi
(1 00) 4 4.59360 19.31 1.96
(1 1 0) 4 3.24817 27.44 2.77
(1 0 1) 8 2.48740 36.08 3.62
(2 0 1) 8 1.81429 50.25 4.96
(1 1 1) 8 2.18731 41.24 4.11
(2 1 0) 8 2.05432 44.04 4.38
Lambda=1.540560 Angstroms a=4
(h,k,1) M d(Ang) T(Deg) fTi
(1 0 0) 4 4.59360 19.31 1.96
(1 1 0) 4 3.24817 27.44 2.77
(1 0 1) 8 2.48740 36.08 3.62
(2 0 1) 8 1.81429 50.25 4.96
(1L 1 1) 8 2:18731 41.24 411
(2 1 0) 8 2.05432 44.04 4.38
Lambda=1.540560 Angstroms a=4
(h,k,1) M d(Ang) T(Deg) fTi
(1 0 0) 4 4.58450 19.35 1.96
(1 1 0) 4 3.24173 27.49 2.78
(1 0 1) 8 2.48274 36.15 3.63
(2 0 1) 8 1.81081 50.35 4.97
(1 1 1) 8 2.18316 41.32 4.12
(2 1 0) 8 2.05025 44.14 4.39
Lambda=1.540560 Angstroms a=4
(h,k,1) M d(Ang) T(Deg) f£Ti
(1 0 0) 4 4.58450 19.35 1.96
(1 1 0) 4 3.24173 27.49 2.78
(1 0 1) 8 2.48274 36.15 3.63
(2 0 1) 8 1.81081 50.35 4.97
(L 1 1) 8 2.18316 41.32 4.12
(2 1 0) 8 2.05025 44.14 4,39

TR
i
LSSRVERY! y

NN DN

.593600

DN

.584500

NN

.584500

NN

fo
209
.54
.01
.76
<29
w48

fo
.09
.54
=01
10
<29
.43

fo
<09
.54
.01
.76
«2.9
.44

fo
.09
.54
.01
« 76
« 29
.44

c=2.958700 Angstroms u=0.

nfTi nfO
0.00 -0.00
2.00 0.38
2.00 -1.24
0.00 0.00
0.00 -3.62
0.00 2.24
c=2.958700
nfTi nfO
0.00 -0.00
2.00 1.00
2.00 -2.00
0.00 0.00
0.00 -3.00
0.00 3.00
c=2.953300
nfTi nfO
0.00 -0.00
2.00 0.38
2.00 -1.24
0.00 0.00
0.00 -3.62
0.00 2.24
c=2.953300
nfTi nfoO
0.00 -0.00
2.00 1.00
2.00 =2.00
0.00 0.00
0.00 =3.00
0.00 3.00

S(hkl) LP(T)
-0.00 8.53
6.13 4.09
4.5 2.27
0.00 1.08
-8.27 1.69
5.44 1.45
Angstroms u=0.
S(hkl) LP(T)
=0.00 '8.53
7.08 4,09
3.22 2.27
0.00 1.08
=6.86 1.69
730 1.45
Angstroms u=0.
S(hkl) LP(T)
-0.00 8.49
6.14 4.07
4.76 2.26
0.00 1.07
=8:29 1.68
5.45 1.45

Angstroms u=0.

S(hkl) LP(T)
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function TiO2Rutile PeakIntensity

Lambda = 1.54056;
w = {034 1.073.0];
LC = [[4.5936,2.9587];[4.5845,2.9533]];

for i = 1:2
for 7 = 1:2
fprintf (1, *\nt)
fprintf(l 'Lambda=%f A
\n', Lambda, LC(i,1),LC(i,2),u(j
fprintf(l,'(h k 1) M d
(hkl) LP(T) Intensity\n');

=%f Angstroms u=%f
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TiO2Rutile _PeakIntensity2(1,0,0,u(j), Lambda, L€ (Gl ) BE(E; 20 5
TiO2Rutile _PeakIntensity2(1,1,0,u(j),Lambda, LE(1i;1)pLE(1,2) )z
TiO2Rutile _PeakIntensity2(1,0,1,u(]j),Lambda, LC (1, 1) ,BC(1i,2)):
TiO2Rutile _PeakIntensity2(2,0,1,u(j), Lambda, Le(1,1);L€(i,2) )5
TiO2Rutile _PeakIntensity2(1,1,1,u(j),Lambda, LC(i,1),LC(i,2));
TiO2Rutile _PeakIntensity2(2,1,0,u(j), Lambda, LE {i1) ; L1, 2) ):

end
end

function TlOZRutlle PeakInten51ty2(h k,1,u,Lambda, a, c)
if (h==k || h= | k==0)
Multlplicity = 4;

else
Multiplicity = 8;
end
if (1 ~= 0)
Multiplicity = Multiplicity*2;
end

d = 1.0/sqgrt( (h"2)/(a”2) + (k*2)/(a”2) + (172)/(c™2) );
Theta = asin(Lambda/ (2*d));
fTi = 18*sin(Theta)/Lambda; fO = lo*sin(Theta)/Lambda,

*

LP = (1 o + (cos (2*Theta))"2)/(8*cos (Theta) sin(Theta))”*2);
nfTi = 1 + real (exp(-i*pi* (h+k+1)));
nfo = O,

nfO = nfO + real (exp(-i*2*pi*( h*u + k*u 1))z
nfO0 = nf0 + real (exp(-i*2*pi*( -h*u - k*u PR
nfO = nfO + real(exp(-i i*2*pi*( h*(0.5+u) + k*(
nfO = nfO + real (exp(-i i*2%pi* (~h* (0.5+u) - k*(
S = nfTi*fTi + nfO*fO;

fprintf(1,'(%d %d %d) %d %.5f', h, k, 1, Multiplicity, d);
fprintf(l," %5.2f', 360.0*Theta/pi)

(
fprintf(1,"' %5.2f $5.2f %5.2f $5:2L" ; £T1,; £0, nETi. ,nE0O) ;
tpEinefi(l;" %7:2f",;8);
fprintf(1," %5.2f',1LP);
fprintf (1,7 %9.1f\n',S*S*Multiplicity*LP);



